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 ��4ال 

  �
�ا
 :  ھ  �f(x) = ln(2) x – 2 ln(x )."*� ا
 

f’(x) = ln(2) – 2 ln(x ) □ 
f’(x) = ln(2) – 2/x  □ 
f’(x)  = ln(2) – x/2 □ 

f’(x) = 2x - ln(x) □ 
f’(x) = ln(2) – ln(x) □ 

 
 ��5ال 

�ي *�
�د ا�'
  *�*�
 ��z = (2 + i )² ھ� ا

2ء ا

□ 1 □ 2 □ 3 □ 4 

 

 ��6ال 

 ��
�""!

"3& ا 

��
  $�4وي   U4 ا

□ 3/5 □ 1/2 □ 1/5 □ 1 

 ��7ال 

&3"
 P(x)&$6ر

�7
�7 +*() ا
�ر�8 ا
  2- و1   ��ود$� �& ا

P(x)(3.
� ا'� 3"9+ 

□ (x + 1)(x - 2)(ax + b) □ (x + 1)(x - 2)(ax² + bx + c) □ (x - 1)(x + 2)(ax + b) □ (x - 1)(x + 2)(ax² + bx + c) 
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  ��8ال

&3�
 A  و B   :��; &�'*"4� &�<��  p(A) = 0,3و p(B) = 0,2  

�ثا�"!�ل�
             A B   ا

□0,5 □ 0,06 □ 0,1 □ 0,6 

  

  ��9ال

3) ��د �*�* 
 x �#$�
 $�4وي  

□  □  □  

  ��10ال

� ا?<���
 N = 147620 + ...... + 135 + 45 + 15 + 5 ا
6ي $�*@   N أ�94 ا

□ N = 49205 □ N = 295245 □ N = 32805 □ N = 98415 

 


